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Note :  Attempt all questions.
ZmoQ> …  g^r àíZm| Ho$ CÎma Xr{O¶o&

BH$mB©-I / Unit-I
Q.1. Ho$ÝÐr¶ CËnmX-ewëH$ A{Y{Z¶‘, 1944 Ho$ AÝVJ©V dJuH$aU H$s gyMr V¡¶ma H$aZo H$s à{H«$¶m g‘PmBE&

Discuss the procedure for preparation of classification list under central excise Act, 1944.

BH$mB©-II / Unit-II
Q.2. EH$ ^maVr¶ Zo bÝXZ go EH$ ‘erZ Am¶mV H$s&

{ZåZ gyMZmAm| Ho$ AmYma na gr‘m ewëH$ Ho$ {bE ‘erZ H$m ewëH$-¶mo½¶ ‘yë¶ kmV H$s{OE …
i) ‘erZ H$m ‘yë¶ £ 10,000
ii) n¡qH$J ì¶¶ £$ 500
iii) hdmB© OhmO H$m n[adhZ ì¶¶ £ 3,000
iv) {Z¶m©VH$ Ho$ Xbmb H$mo gm¡Xm

H$admZo H$m H$‘reZ £ 100
v) {Z¶m©VH$ Ho$ H$‘©Mmar H$mo ^maV AmH$a

‘erZ H$mo bJmZo (assembling) H$m nm[al{‘H$ £ 3,000
vi) ~r‘m àr{‘¶‘ £ 500
vii) ^maVr¶ hdmB© AÈ>o go ’¡$³Q>ar VH$

‘mb bmZo H$m ì¶¶ Ed§ ~r‘m àr{‘¶‘ ê$ 10,000
viii) {d{Z‘¶ Xa £$ 1= ê$ 80
An Indian imported a machine from London.
From the following information determine the assessable value of the machine for Customs Duty:
i) Cost of machine £ 10,000
ii) Packing charges £ 500
iii) Transportation charges by air £ 3,000
iv) Commission paid to the broker

of exporter who arranged the deal   £ 100
v) Amount paid to an employee of exporter

for assembling the machine in India   £ 3,000
vi) Insurance premium       £ 500
vii) Transportation charges from airport to

factory and insurance premium Rs.10,000
viii)Rate of exchange £ 1= Rs.80.
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BH$mB©-III / Unit-III
Q.3. Ho$ÝÐr¶ {dH«$¶-H$a A{Y{Z¶‘ Ho$ AÝVJ©V 31 ‘mM©, 2009 H$mo g‘má {V‘mhr Ho$ {bE EH$ ì¶mnmar Ho$ H$a-¶mo½¶ {dH«$¶

H$s JUZm H$s{OE&
‘.à. Ho$ EH$ n§OrH¥$V ì¶mnmar Ho$ Hw$b {dH«$¶ H$m {ddaU {ZåZmZwgma h¡&

ê$.
i) e¸$a (‘.à. ‘| H$a-‘wº$) 4,00,000
ii) g‘mMma -nÌ 2,00,000
iii) Vå~mHy$ (‘.à.‘| H$a-‘wº$) 50,000
vi) A§e d à{V ŷ{V¶m§ 6,00,000
v) H$ZmS>m H$mo {Z¶m©V 3,50,000
vi) ‘Ü¶àXoe ‘| ~oMm gm‘mZ               10,00,000
vii) AÝVam©Á¶r¶ {dH«$¶ ‘| ~oMm ‘mb {Og

na H$a H$s Xa 10% h¡& 4,60,000
viii)AÝVam©Á¶r¶ {dH«$¶ ‘| ~oMm ‘mb {Og

na H$a H$s Xa 2% h¡& 2,04,000
Cn¶w©º$ (vii) ‘| ~oMo J¶o ‘mb {Og na 10% H$s Xa go H$a bJVm h¡, Cg‘| go J«mhH$m| Ûmam 20,000 ê$. H$m ‘mb IarX
Ho$ 6 ‘mh Ho$ AÝXa dmng H$a {X¶m J¶m Wm&
Calculate Taxable turnover of a dealer under for the quarter ending 31st March. 2009 the Central
Sales-Tax Act.
The total sales of a registered dealer of M.P. are as under:

Rs.
i) Sugar (Exempt in M.P.) 4,00,000
ii) Newspapers 2,00,000
iii) Tobacco (Exempt in M.P.) 50,000
iv) Shares and Securities 6,00,000
v) Export to Canada 3,50,000
vi) Goods sold within districts of

Madhya Pradesh 10,00,000
vii) Inter-State sale on which rate

of tax being 10% 4,60,000
viii)Inter-State sale on which rate

of tax being 2% 2,04,000
Goods worth Rs.20,000 were returned by customers within 6 months of purchase out of goods given
in (vii) on which the rate of tax is 10%.

BH$mB©-IV / Unit-IV
Q.4. ‘Ü¶ àXoe ‘yë¶ d{K©V H$a A{Y{Z¶‘ Ho$ AÝVJ©V {ZYm©aU à{H«$¶m gå~ÝYr ³¶m àmdYmZ h¡?

Discuss the provisions regarding furnishing of returns under the M.P. VAT Act.

BH$mB©-V / Unit-V
Q.5. H$a ¶mo½¶ godm H$m ‘yë¶m§H$Z H$aVo g‘¶ {H$Z-{H$Z am{e¶m| H$mo Bg‘| gpå‘{bV AWdm Agpå‘{bV {H$¶m OmVm h¡?

‘yë¶§H$Z H$m ‘yb AmYma ³¶m h¡?
What are the exclusions and inclusions, while valuing taxable services? What is the basis of valuation
of taxable services?
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